= NDHBR(L)s5- SES S FEA

CERE %
7
|%E & | 220 | @25 | @32 | @40 | @50 | @63 | @80 %
[E =g 03 | 0507 | 09 | 15| 21 31 (s
%
i
fas
O g« i
= %
BB 5L (mm) @20 @25 232 @40 @50 263 280 ;fn.«g
oo @12 @14 @16 @16 @20 @20 @25 t
1EEIfZX LR
fERmRE CIREZBEER i8
SIS kgflcm? (kpa) 10.3(1030) i
FRENESE kgflcm? (kpa) 1 ~ 7(100~ 700) o
B2 mm 9 11 13 15 “
TEEfTRE mm 13 15 17 20 .
IREME HE®
TEES A E 90+2' s
D o) 0 (ARA) - L ; A8 (HARA) - R o
LB E ) (N) (0.6MPa) 120 \ 200 \ 360 \ 630 \ 980 \ 1680 2666 ﬁ
O FTREFEITALEE Q
(o[ R ) (25 ) =« ( 13 ) - ( sp 2 ) %
[ &
— E
| mEng | | mERE | | BELE | i
‘ TR P72 — -
o L ERABEERER _ (EEHTRETEE) 38705 /% (NDCS-9D) 2
” i?mgﬁq;) ;g ; g;gmm 8 1838/8 (NDCS-90B) T%L
B mm 320 - 13mm € 587848 /B (NDCS-9H) B
© R:RTABEETEN 32 - @32mm @25 - 13mm & 22 748 /8 (NDCS-9DPNP) 5T
(RERS) @32 - 15 _
40 - @40mm 540 1522 (2] mmsss
50 - g50mm @50 - 17mm 1i1{EIﬁJ§%§:E! =]
63 - @63mm 363 - 17mm 2 = 2{ERME SR GRE M) Ei;
80 - F80mMm @80 - 17mm ,’i
£L

)
]
it
il
b
K

1-6.77



© NDHBR(L) @20 ~ 980

NDHBR(L)1x ST

s 7 (U
- 7@»‘—§—5 ]
\ @}\L/W
Vit :
K 49l
J
G1
F\ il
\
|
\ a
| |
‘ !
E1 E1 %
Pu 2
\ <
[s2}
b4 | ol <
!
N (@]
=z ‘ |
T [
N1
2l
1 I
| —
1 110 -
BERRTERT
il 1= ST A A1 A2 B C D1 E1 F G1
@20 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@25 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@32 26 82 108 (128) 78 28 019 M8x1.25 8 70
@40 26 82 108 (128) 78 28 019 M8x1.25 8 75
@50 30 94 124 (150.4) 90 31 025.4 M10x1.5 10 85
263 30 94 124 (150.4) 20 31 025.4 M10x1.5 10 95
280 35 110 145 (176.4) 105 35 []30.4 M12x1.75 12,5 127.5
fil & | J K L M N R S T V] N1 N2 N3
@20 @31 33 26 @3.3 | M5x0.8P | 35 o1 | 212 5 8.5 7.5 13 415
@25 @35 38 30 @4.6 | M5x0.8P | 35 o1 | 214 5 8.5 8 16.5 | 39.5
@32 @46 50 40 | @56 |PT1/8 50 @14 | @16 7 95 | 11.5 19 45
@40 @55 60 48 | @6.8 | PT 1/8 55 @14 | 216 7 9.5 14 19 45
250 @65 70 57 6.8 | PT 1/8 60 @18 | @20 9 12.5 17 21 54
763 @78 83 67 @9 | PT1/8 70 @18 | @20 9 12.5 20 21 54
280 @96 | 105 84 @11 | PT 1/4 90 @20 | @25 1 145 | 255 | 235 | 66.5




